Solve 2 Step Equations				Name: __________________________________________
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Two-Step Equations
Notes:






Solve each equation.

	1.
	

	2.
	

	3.
	







	4.
	

	5.
	

	6.
	






	7.
	

	8.
	

	9.
	







	10.
	

	11.
	

	12.
	







	13.
	

	14.
	

	15.
	






	16.
	

	17.
	

	18.
	







	19.





	

	20.
	

	21.
	




Solve each equation. Check by plugging in your answer.

	1.
	

	2.
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Choose the correct equation. Then solve the equation. 
Sales A sales representative earns weekly base salary of $250 and a commission of 8% on her weekly sales.(A commission is money earned that equals a percent of the sales.) At the end of one week, she earned $410.How much did she sell that week? Let s represent the total sales. 
A. 	250 + 0.08s = 410 		B. 	250 + 410 = 0.08s 
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Solve Another Problem 
9.   A sales representative earns pay as described above. During a holiday promotion, he earned $650. What were his total sales for that week? 
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Example 5 Solve 5v — 12=8.

5v-12%8
Add_____ toeachside.
Sv Simplify.
Divide each side by
v Simplify.

Check: 5y.12-8

S( ) —12 &8 Replace v with

-12 £ 8
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‘Word Problem Practice

1. You order plant seeds from a catalog. Each packet costs $.90 cach. The shipping charge is $2.50.
If you have $18.50 to spend, how many seed packets can you order?

Relate  cost . number of - amount Let b= the
per packet UMES paciets  Plus  shipping equals ¢ peng number of

packes you can

I N s B
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Check Is the solution reasonable? Can you order part of a packet?
18 packets would cost: 18 * $.90 + 2.50 =
17 packets would cost: 17 * $.90 + 2.50 =

How many packets can you order?
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1. Solve each equation. Show your check.
a.15c +3 = 48 b §-10=-6
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2(n + 5) = −2
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Learning Goal: I will be able to solve two-step equations with positive variables

Review: Vocabulary ~Choose the best term from the list to complete each sentence.

isolate the variable equation inverse operations

1.

are mathematical operations that undo each other.

2. To solve an equation you need to

3. Aln)

is a mathematical statement that two expressions are
equivalent.
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9x + 8 = 62
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Inverse Operations

How do you ‘undo’ addition?

How do you ‘undo’ subtraction?

How do you ‘undo’ multiplication?

How do you ‘undo’ division?
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3x − 4 = 17
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Review Vocabulary (Prior Grade) Fill in the blank with the
correct term or phrase that describes the order of operations.
Order of Operations

1. Simplify within the

2. Evaluate the

8 — from left to right.

4. from left to right.
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Solving Two-Step Equations

1. Evaluate the expressions below. Show your steps.
5x6+4 5+6x4

2. Did you get the same value for both expressions?

3. Which operation did you perform first in each expression? Why?

4. Solve the equations below. Show your steps.
Sx+4=34 5+4r=29
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Understand

1. What is a commission?

2. To choose the correct equation, determine which one represents weekly salary +
commission = total earned.

Plan and Carry Out Show your work below:
3. What is the first step in solving the equation? Equation:

4. Simplify both sides of the equation.

5. What is the second step in solving the equation?

6. Simplify both sides of the equation.
7. What are her total sales for the week?

Check

8. How can you check your answer? Check:
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Solve the two-step equations below. Shade in your answers in the puzzle at the bottom of the page. The
correct solutions will reveal the identity of the state that is the largest gold-producing state in the nation
—second in the world behind South Africa. SHOW YOUR WORK!

1 3y-6=9 2 4x-9=3 3. 7+2p=21
y x= y=
4 $+7=10 5.3n-6=12 6. —6+2x=4
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. Which operation did you perform first to solve cach equation?

. Was it the same operation you used first in Exercise 17

. How were your steps in Exercise 4 different from your steps in Exercise 17

. Write a rule for solving a two-operation equation containing a variable.
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